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Mechanic(Auto Electrical and Electronics) L 1

Q 1) Identify the sign shown in the picture. \ i o <wifg T fore @t ugEE ﬁ|

I

1) Toxic Hazard\ IELIESEERN]

2) Risk of Electric Shock\ W-W CIRCGR
3) Risk of Explosion\ ICE I REGR|

4) Risk of Fire\ 3} &1 @1

Q 2) Identify the sign shown in the picture. \ i o <wifg T fore @t ugEE ﬁ|

i &

R

L. -

1) Informative sign\ JddTHP g
2) Prohibitive sign\ AT fag

3) Mandatory sign\ 3MEIMHSD g

4) Warning sign\ ESICRIIEE

Q 3) 3-phase induction motor works on effect of current.\ &G IRTT AR
JINES U R B Il B

1) magnetic\ W
2) chemical\ IAAM®
3) heating\ S

4) lightning\ UHTRI

Q 4) Coloumb is the unit of \Pad T HHD |
1) Charge\ 3{Ta

2) Current\ YIRT

3) Electric field\ faqga &=

4) Energy\
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Q 5) A metal rod of resistance R and length 1 is cut into n pieces of equal length.

Resistance of a single piece will be AN Udh ¢1fedp s et ufeRiy R 3R a—q'rs‘
18, P n GAF chel B fauiva fpar SR | T cpe w1 ufeRly . gl

1) R/n
2) Rn
3) L/n
4) Ln

Q 6) Which of these is used to make circular rings of wire?\dR CRINARUKEIECD 1%111
g7 ¥ foraeT ST fohan ST 82

1) Insulated round nose plier\ égaés T3S el TR
2) Insulated combination plier\ ﬁﬁa%_&' PITIARA WRR
3) Poker\ ICZ

4) Crimping tool\ fop T cd

Q7 diode works in reverse-biased condition. 1. Zener 2. Photo 3. Light
(of o

Emitting\ TS Nad a9 sian A s Hrar gl 1. $iFR 2. Hlel 3.

UDIRI

1
2)1,2,3
3)1,3
4)2,3

Q 8) Phosphorus is added to Germanium in order to make type semiconductor.

\BIEPRY &l SHATH & I fAdey @13y 3ieesd s Sdr g |

N
2)P

3) group 13-15\ YU 13-15
4) group 14-16\ YU 14-16

Q9 is a cutting tool used to make the metal surface smooth.\

T g B! a1 B o YA {1 o1 a1a 3SR g

1) File\ ThTgcd
2) Hacksaw\ %—Fﬂ

3) Scriber\¥h[gdR
4) Trammel\ atlﬁ

Q 10) Which of these is used to make deep holes in the wood?\ E":lﬁ Y foaeT TanT
del U TeX &% HRA g fova oira g2

1) Gimlet\ e
2) Stake\ WP

3) Snap\ =y

4) Mallet\ Hdic
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Q 11) Which of the following device measures electric current in a circuit?\ E:F?f |

DI 97 forddt afkay & faggd 4T &1 AU &Rl 82

1) Ammeter\ QI“E?
2) Wattmeter\ drediex

3) Voltmeter\ JiecHieR
4) Watt-hour meter\ dIC-3{Id} e

Q12) is not an insulator.\ Uh pdlcidh T8l %|

1) Eureka\ ZBW
2) Asbestos\ Q@W
3) Ebonite\ .Qélq Is‘a

4) Glass\ CIE]

Q 13) The unit of Impedance is \ SIS Y & AHd %|

1) ohm\ 3&

2) ohm-metre\ -
3) henry\ gIRI

4) farad\ TS

Q 14) %Vhich of the following is NOT a type of thread joint‘?\ﬁ'{;f AAPHATIS \_rh_s' Cal
UPR 5?

1) Fixed joint

2) Indirect joint\ UL SIS

3) Adjustable Joint\ gHINY SIS
4) Direct joint\UTE SIS

Q 15) Bolts and screws made of copper are generally used in \die  fAffa

Fiee 3R TP HT ITIRT FHIG: A fparSmarg |

1) Electrical equipment \ fd qYd YD
2) Steel structure\ LTId T

3) Ship\sigIsl

4) Vehicle\dlg-

Q 16) Identify the symbol as shown in figure. \ oz o <wifd T fog 1 uge= ﬁ|

N

10.6.60.71:8080/gbexcel/admin/Download.aspx?id=37 3/21



7/26/2019 10.6.60.71:8080/gbexcel/admin/Download.aspx?id=37

1) Photo Transistor\ Hicl E\T%IW
2) Amplifier\ THICHHTIR

3) Multivibrator\ HecIaIgsiex

4) Integrated Circuit\ s‘c‘ﬁ%@: idhe

Q 17) It would be appropriate to combine the batteries into to get 36 volts

from three batteries of 12 volts.\ 12 dlee I diF St H 36 dlee U B %1%111
el ®i T GRS A1 UG I

1) Series \gyuft

2) Parallel \HMIAR

3) Mixed\fHf%d

4) any combination\ ot +ff g |

Q 18) Which Circuit is appropriate in case of low visibility? \ o H €ddl F R oA
1 aRuY IUged §?

1) Fog light circuit\ T A18¢ gRTY

2) Power Window Circuit\UTdX fdgr ukuy
3) Wiper circuit\dIguUR gy

4) Horn Circuit\?ﬁ gRgYy

Q 19) Which of the following devices is used to turn thermal and cooling devices ON or
OFF as needed? \ dTUTT 3R Xfddies SUHRUN &1 SARIHATIR A16 T §¢ B3 &
fore o1 <t gfda &1 ua fear Srar g 2

1) Thermostat\ JHCC
2) Water cooler\dIcX eix

3) Press\U
4) Geyser\l o

Q 20) What is the full form of ABS in the braking system? \ ST JUITGH H TSITH BT

PURSUE: I

1) Anti-lock braking system\@-?ﬂ? sfd e

2) Anti-locking braking system\w-ﬁm sf1 Req
3) Anti locker Braker System\w dlpx s Rey

4) Anti Theft Brake System\QT:pf U seh ey

Q 21) The automatic change in the gear according to speed and load in an automobile is

called \ T SIS H T Td die & Sy R d Warferd
aRadH HEardl g|

1) Automatic transmission\¥ddI NGRSERY
2) Manual transmission\G¥l AR0T

3) Automatic generation ISEINGSRE

4) Manual Generation\ &I S
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Q 22) Which of these components transfer power from engine to input transmission shaft?

\ ST T B T Uch o 3 Wfdd B 39Ye SRTHRH UMUE ddb IR Bl 82

1) Torque converter\Cld BT
2) Power converter\Uldx HAac
3) Voltage converter\@lecs H-deT
4) Current converter\®<c HaR

Q 23) Which of these is used as a charger in the machine used for refrigeration?\ szlﬁ |

frgan! UaiT Siae g YaNT &t ST aTelt 7=iF § 9ok & &9 ¥ faar S g2

1) Refrigerant adapter\ ITpoRe TSTPR

2) Charging meter\ Il Hex

3) Vaccum pump\ aT’FT:[ gy

4) Compressor oil charging pump\ HUTR T 1ol 4y

Q 24) In Vapour Absorption refrigeration, is used for refrigeration.\ dT™

aNYT U=ita= |, U=idd 8q T AT foar SiraT gl

1) Heat energy\ Su Sol

2) Mechanical energy\ BlECIREC
3) Potential energy\

4) Chemical energy\ IS Sl

Q 25) Generally which of the followmg component is not connected in horn circuit ? \

3T AR W FYfRed & § & 91 U 814 Hidbe | I8T ol aidl 82

1) Ammeter\3HIC
2) Battery\afﬂ

3) Horn relay\Eﬁ ﬁ?f
4) Fuse\WR]sl

Q 26) Which of the following is not a part of motor starting system?\ﬁm A AP
1 HieR Wi e &1 Us YT gl 82

1) Spark Ignition\w SPRIE
2) Key-switch\®1-Rad
3) Flywhee\GITs 01l

4) Battery\a R

Q 27) Fuel injection is used in a diesel engine. \'BF?FT 3@5@:{ Cal
ST Siret $i H oo S g |

1) Pump\ g

2) Carburetor\ W

3) Governor\

4) Motor\ qiex
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Q28) is used to reduce the sounds of burnt gases in a vehicle.\ foadt Jllé K|
Sl 8% 711 Bl 1A B HH HRA 8q &1 YA T ST g

1) Silencer\ ﬂ]’f’gﬁw

2) Packing\ o

3) Manifold\ A-hIcS

4) Supercharger\ Wﬁ?

Q29) is not a part of solenoid switch.\ Q:i|a:i|$3 g &1
TH U el g

1) Clutch\ deid

2) Hollow core\ Eﬁ?ﬁ DR

3) Sliding plunger\ S IHEUANEN
4) Battery\

Q 30) There are teeths in flywheel ring gear as compared to that of self-pinion

gear\ Y FUFTTT TR ) g § wems et {97 iR & GIdgId g

1) more\ 3%
2) less\ P H

3) equal\ SIRTaX
4) double\GITAT

Q 31) Housing of a vane supercharger is in shape.\ fodt am Wﬁ? Co|
SIS &7 3MHR glaT g

1) cylindrical\ STTHR
2) spherical\ MATHR

3) circular\ gdIPR
4) hemispherical\ 3{ . IMATHR

Q 32) MPFI stands for- \ TH.0.UW.3MTs. ¥ fHUTT 3-

1) Multi Point Fuel Injection\ e HT‘i;C R ‘é\;ld-‘ll"l
2) Major Points Fuel Injection\ ToR PIERNRU ] SolaRM
3) Mega Pressure Fuel Injection\ T URR W ESCRE

4) Main Point Fuel Injection\ o H\Iliid R ‘i;\?lch‘ll'-l

Q 33) Gravity feed diesel system does not includes \ Ufac wis Sord
Uit & 3favia el 3T |

1) Governor\ TR

2) cock valve\ P dled

3) injection pump\ 3@3@7{ ug
4) fuel filter\ IS flheex

Q 34) Thermostat valve is provided A\ yARee aTed Tar fan
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SITlT |

1) in water outlet\ dICX 33caie H
2) above radiator\ IETR & W
3) in water inlet\ ST¢T s:lﬁ_cr o

4) in water jacket\ dICX o H

Q 35) In a car A.C., condenser is fitted near \ R ®R Q.?ﬁ. ﬁ,
& g # fibe frur S g

1) radiator\ Afeder
2) rear wheel\ R O_Ga?f

3) crankcase\ '

4) magnetic clutch\ s wra

Q 36) Identify the Warning Sign as shown in figure - \ fom1 o T2 ¢ TaraH g &t
EREIRERE

1) Risk of Explosion\ fawpie BT @

2) Risk of Electric Shock\ ﬁ?{ﬁﬂ-@ﬂaﬁ CIRCGR

3) Risk of ionizing Radiation\ STHIHUT AR 0T BT WRT
4) Risk of Fire\ 3l &1 @1

Q 37) What is the full form of BIS? \ §133TY &1 Juf U T g 2
1) Bureau of Indian Standards\@ 3 _{%TI—"[ m

2) Bureau of International Standards\@ﬂﬁl 3 ZeTARHA *&CSSH
3) Bureau of Integrated Standards\@ 3Hh SN @3@
4) Bureau of internal standards\&lﬁ 3 S m

Q 38) Which instrument is used to spray fluid, gas or powder on burning obj ects\STeTcl!

§s Il IR &4, 719 31ya1 9uf &1 fSSH1a B & (o8 fovg I &1 TRanT fadt SfTelT 62

1) Fire extinguisher\3{ORIMH®
2) Alternator\ T
3) Generator\STT=1

4) Rectifier\[GFHRI

Q 39) The quality of opposing the flow of current in a conductor is called as A

AP BT YRT YATE BT faR1e B BT 0T HEArdl g

1) Resistance\UfaRIY
2) Resistivity\UcRIUEHdT
3) Conductance\dIcip dl
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4) Inductance\UR&H

Q 40) How ampere meter can be connected in the circuit? \TER Hiex &1 akgy o forg
UHR J GAITd fobdT ST Hhall 52

1) In Series combination\30ft e

2) In parallel combination\THMIAR TATSH o
3) In mixed combination\[H3d Tare— H

4) None of these\_{:lﬁ I aﬁé :Eﬂ

Q 41) How many terminals are there in a transistor?\¢ forex # faha efifa a?f %‘?

1) Three\dH
2) Two\al

3) Four\dIR
4) Five\urd

Q 42) In forward biasing of a diode, the positive end of the battery is connected to which

terminal of diode? \ SIS P 3T SARNT H F3} BT YTHD RRT SIS & fobg
e & ST ST 82

1) From anode\Q:h_s' ﬁ

2) From cathode\BUTS J

3) Both from anode and cathode\Q:h_S' AR FUS g
4) None of these\s_"lff @ aﬂé 7'%)[

Q 43) The capacity of the battery is expressed in which unit? \ St &Y & fbyg ‘s’aﬁré
o o P11 67

1) Ampere hour\m i
2) Kilo ohm\faretl 31

3) Kilo volt\fdall diee
4) Joule\Sfcl

Q 44) The combination of two or more cells is called \araral ¥ e gal
& TS DI EHSIGI

1) Battery\a o8y
2) Diode\STIS
3) Generator\ST=1

4) Rectifier\[QFHRI
Q 45) LED stands for - \Qﬁg@pf q 3Hfm %—

1) Light emitting diode\dTgc THT SRS

2) Limiting emitting diode\faTffT wfitfe st

3) Light Emergency Diode\cllgC SRON! SAle

4) Lighting Emergency Diode\dTs e Wﬁ SIS
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Q 46) converts the heat energy of the fuel into mechanical energy.\

34 B SN Tl D T3 Solt § URAfd BT R |

1) Engine\§oi-
2) Alternator\ TP

3) Engine and Alternator both\§ol- 3R ymad® i

4) None of these\ZTH U P el

Q47) %n which basis can engine be classified?\[h T STUR TR ESE| ?JITFW foar
Hqhdl g?

1) Based on the number of cylinders\ﬁlﬁ@? P IS & YR T
2) Based on the engine strokes\§oI- & Ej?ﬂ:[ & YR R

3) Based on the engine Fuel\$oq & EC?FT & 3MMYR T

4) All of these \ T I

Q 48) What is the output of an alternator? \ JTdde BT 33 cYc =T gl % ?

1) AC\TH
2) DC\Srd!
3) Both AC and DC\THY 3R St g1

4) None of these\?z:lﬁ | aﬁé :|_5Q[

Q 49) Which winding ofrtransformer is provided with power supply? \ ‘gmtﬁﬁ? & fo
AEfET &) faggd TS Ue™ &1 ot 82

1) To Primary Winding\mm CIHEU] G|
2) To Secondary Winding\m arefeT Eal
3) To Tertiary Winding\dd [ dIIST] Eal

4) None of these\s_"lﬁ | a'ﬂ_ic qﬁ

Q 50) Which of the following statement is true about Rectifier? \Fafafea g 9 CaEke|
HY feppRt & IR T T4 B2

1) Converts AC to DC\Q?ﬁ P! S0t & uRafdd &ear %

2) Converts DC to AC\S I} &1 Tt # ulkafdd s g

3) Converts AC voltage into high frequency AC Voltage\Q?ﬁ diecs 1 3 Gflq% &
T diees ® uRafdd sral g

4) Converts the DC voltage into DC voltage of higher value \SH! Alecs &l 3= AH &

SRft diees H uRafdd srar g

Q 51) Which of the following hammer is made of wood \FH H I B T ‘s’ﬁls | aﬁ |
SR g?

1) Mallet BT
2) Ball peen hammer\dIct UiE| %IIT
3) Cross peen hammer\sh T Sic] %TIT
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4) None of these\STH I IS T8l

Q52) W%ich of the following is not a part of hacksaw? \ frafafed & 9 o9 o1 ol &1
HITT Tel 82

1) Handle\ 88
2) Blade\&TS

3) Adjustable frame\GHIANST THH
4) None of these\_{:lﬁ q ?ﬁé :Eﬂ

% 53) Which of the following is a type of thread joint?\ﬁ'{q AAPHAIS Gﬁg DI UDPR
?

1) Direct joint\ el SIS

2) Indirect joint\ UL SIS

3) Adjustable Joint\ FHINY SIS
4) All of these \ T I

Q 54) Bolts and screws made of copper are generally used in \die  fAffa
dee 3R Tp BT IYANT JHI: A fparsmar g |

1) Electrical equipment \ fd qqd YD
2) Steel structure\ LTId T

3) Ship\eigIsl

4) Vehicle\dlg-

Q 55) When the brake is pressed in a vehicle, which circuit of the vehicle s lighting
system is activated? \ ST {4} A8 H S P! ST AT § ol A8 & DTN o BT
®IF 91 URTY Afeha 8T 82

1) Stop light circuit¥eId dTge URUY
2) Head light circuit'g S @3¢ URTY
3) Fog light circuit\ @R drge gikay
4) Top Light Circuit\@Td d13e GRTY

Q 56) An internal combustion engine can be \ Sfid® Qg
EEE B AHT g

1) Two stroke\g W
2) Four stroke\PIR W
3) Both Two stroke and four stroke\g ¥¢[dh 3R BR €D I

4) None of these\ZTH U P15 T8l ’

Q 57) It will be appropriate to combine these batteries in to get 36 volts from three

batteries of 12 volts.\ 12 AIce I i Sl T 36 dlee UTd HA %%QWﬁ
¥ GO 1 3fera g

1) Series \9Uft

10.6.60.71:8080/gbexcel/admin/Download.aspx?id=37 10/21



7/26/2019 10.6.60.71:8080/gbexcel/admin/Download.aspx?id=37

2) Parallel \FHIR
3) Mixed\[Hf%d
4) None of these\_{:lﬁ q ?ﬁé :Eﬂ

Q 58) Which Circuit is appropriate in case of low visibility? \ & TTdl &} fRufd & S
1 IRTY IUgad 82

1) Fog light circuit\ @R drge gikay

2) Power Window Circuit\UTdX fasr ufkoy
3) Wiper circuit\dIgUx gRuy

4) Horn Circuit\g\ﬁ gRgYy

Q 59) What is the advantage of smart light technology? \ |1 NIEE N o1
BTIa 87

1) By using it, energy efficiency can be increased.\QHdI g Gb*{ab, Sl [AoGIE
de T Sl Hohdl

2) Automated control is possible according to the situation \fRUfT & STIR arerd
RRELEHEES

3) Using the sensor, energy consumption can be reduced.\GR &1 YN W, ol B
[Ud D! HH [Ha1 o hdl |

4) All of these \ T g+

Q 60) Which of the following devices is used to turn thermal and cooling devices ON or
OFF as needed? \ dTUTT 3R Xfddies SUHRUN &1 SARIHATIIR A16 T §¢ B3 &
fore o1 <t gfda &1 ua fear Srar g 2

1) Thermostat\ JHCC
2) Water cooler\dIcX eix

3) Press\U
4) Geyser\l o

Q 61) Which of the following machines can generate excessive electricity at low RPM? \

fFofafEad § 3 o I 7= g Rdies R srafie faee Sas &R bl 82

1) Alternator\JdTaTcid
2) Dynamo\g'l'q:lﬁf

3) Both dynamo and alternator\STITH! 3R YA gl

4) None of these\STH I BIs Tl

Q 62) Which of the following is not a part of motor starting System?\ﬁ:ﬁ%@ﬁ A HH
1 HIeR WIfeT RIeH 1 Th W T 82

1) Battery\aﬁ

2) Key-switch\&1-Rad

3) Flywhee \GATS a1l

4) None of these\_{:lﬁ I aﬁé :Eﬂ
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Q 63) The automatic change in the gear according to speed and load in an automobile is

called \ TS ficiaraTgd 8 Tfd Td 9l & 3y R § waeferd
afad HEATI 3|

1) Automatic transmission\¥dd INGEIERY
2) Manual transmission\G¥dl eRUT

3) Automatic generation TATerd S

4) Manual Generation\ (SESED]

% 64) What is the main function of steering system? \ TR e &1 qo SR &
?

1) Convert the rotatory motion of steering wheel into angular motion \ERAT el Bl
g T B Hiong 71 & gRafdd Hm

2) Convert the angular motion of steering wheel into rotatory motion\ & IR Eidl Pt
PV T D1 Yo T | aRkafdd @

3) Convert the rotatory motion of steering wheel into power\@'qﬁ'r[ O_GWFT Pl Epﬁ T
&1 ik H gRafefd B

4) Convert the angular motion of steering wheel into power.\@’qﬁ_r[ I Bl GBI
&1 i H uRafdd &1

Q 65) What is the purpose of the exhaust gas recirculation system? e g W:T
Tl T =T T 62

1) Reduce emissions of subsidiary products of air pollution.\dlg UgHUT T Ugd 3Gl
C

D S hH D]

2) Increase emissions of subsidiary products of air pollution.\dl{ Ug¥UT T gad IdTal

B IO TG
3) Increasing the oxidation of nitrogen\:ilgélﬁlq & STt o Q@ Pl
4) All of these \ I T

Q 66) Which of the following is an example of direct cooling system? \ BEEES) DT
Ual e oF BT 3aTeRU 82

1) Air cooling\dlg RG]

2) Cooling by water\STdl gRT Rfide

3) Cooling by both air and water\dTg YT Sic] & gRT 2fideH
4) None of these\?z:lﬁ q aﬁé :|_6Q[

Q 67) What is the main function of condenser in air conditioning system ?\@IR & SIRIT
. e N c by
Ren o, TR &1 & S 1 811 /2

1) Convert hot vapor into liquid\TITCI I &1 %9 § uRafdd &A1
2) Convert liquid into hot vapor\ad $1 T arg H giafad &
3) Compressing hot 2ir\TTH gar &l ﬂtﬁ%ﬁ DAl

4) Spreading compressed air\ﬂ"tﬁ'%,ﬁ gdl PT YR hRAl

Q 68) Which of the following is a balancing coil type electrically operated gauge? \
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frafafied & @ &1 1 Sqford ®15d ergy faggd Jaiferd 7l 82

1) Fuel Gauge\_sﬁ?-l:f )

2) Temperature gauge\dl4 H[Uh US|
3) Air pressure gauge\dlg qld US|
4) All of these \ T g+t

Q 69) Generally which of the following component is not connected in Horn circuit 2\HTH

IR R FyfaRed & ¥ & a1 g g+ uRuy § 781 J8T 81dT /2

1) Ammeter\3{HICI
2) Battery\a?ﬁ

3) Horn relay\g\ll:f e
4) Fuse\WR]sl

Q 70) Where is the horn switch normally installed in vehicle?\ITHIId: E}ﬁ%ﬂ G|
aTe o el R fhar Srar g 2

1) At the centre of steering wheel R gd Fhg

2) On dashboard\STEIS TR

3) May be on dashboard or at the centre of steering whee\STTETS TR 1 WA CINE:D
HE A ADHAT §

4) None of these\3TH H D15 ol
L. 1 Answer key
1(\%(1)1.estion Option 1(3(1)1.estion Option 1(\:;(1)1.estion Option
1 1 31 1 61 1
2 1 32 1 62 4
3 1 33 1 63 1
4 1 34 1 64 1
5 1 35 1 65 1
6 1 36 3 66 1
7 1 37 1 67 1
8 1 38 1 68 4
9 1 39 1 69 1
10 1 40 1 70 3
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11 1 41 1
12 1 42 1
13 1 43 1
14 1 44 1
15 1 45 1
16 1 46 1
17 1 47 4
18 1 48 1
19 1 49 1
20 1 50 1
21 1 51 1
22 1 52 4
23 1 53 4
24 1 54 1
25 1 55 1
26 1 56 3
27 1 57 1
28 1 58 1
29 1 59 4
30 1 60 1

Mechanic(Auto Electrical and Electronics) L 2

Q 1) Which of the following is an example of external combustion engine? SE R D
1 U STE &8 $9i 1 3GIe0 §

1) Steam engine\dT® Soi
2) Gas turbine\Tg cdg
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3) Rocket\ T
4) Jet engine\@’cr Qo

Q2) circuit of the vehicle s lighting system is activated when the brake
is pressed in a vehicle. \ 51§ fo<i} a8 & S &I ST ST | <l AT8 & UHTRIT
Cal aRTY Tfgha 81 T B

1) Stop light circuit\¥eTd orge uRkuy
2) Head light circuit'gS TIgc URUY
3) Fog light circuit\ N1 g TRTY

4) Top Light Circuit\@ld A13e GRTY

Q 3) Laser diode finds its application in \ TR SIS &

3TN A O T B |

1) fibre amplifier\ TPTEER THCHIIR
2) television receiver\ cofifaeH fefier
3) remote controls\ e Eb_Ua?f

4) photo conductors\ Wil Haae

Q4) is used to maintain the constant output voltage value of the alternator.\

JATdlid & JTICYC diecsl HH &I fad @ & fog &1 TRANT fohaT ST g

1) Voltage regulator\?ﬁé\_ﬂ [CIBRIEED
2) Current regulator\¥YIRT fafamae
3) Wattmeter\@IcHICY

4) Energy meter\ oIl HlcX

Q 5) Which component is used to connect or disconnect the drive from compressor to the
air conditioning system? \ TR e R dF T S12d B! HUIR F H-ide T fSIhac
FA & AT DI F gcd BT YART 351 STl 52

1) Magnetic clutch\w ENE)
2) Blower\&13R

3) Receiver\RETaR

4) Compressor\w_sa'?

Q 6) What is the main function of steering system? \ TR Red &1 qo SR & %?

1) Convert the rotatory motion of steering wheel into angular motion R O_Gﬂﬁ G|
U T4 P HIond 71 & gRafdd BT

2) Convert the angular motion of steering wheel into rotatory motion\ W IART I Pl
HIofig T o1 guiH 71t & gikafdd &

3) Convert the rotatory motion of steering wheel into power\@’qﬁ_ﬁ I Bl ‘{Uﬁ T
&1 ifad | uRafdd s

4) Convert the angular motion of steering wheel into power\@qﬁ"'{ I Dt CANIBKIIR]
1 QfckT H gRafeid BT
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are located on the dashboard of the vehicle.\ , dlg &
émh:cf R RA T
1) Gauges\ﬁTVf
2) Magnetic clutch\w CNE)
3) Flywhee\IRTTS &1l
4) Battery\a Ry
Q 8) 1 tonne of refrigeration is equal to of power.\ 1 ¢ PEIRE] CIRUES
& RIS AT 3|
1)3.52 kW
2) 1.05 kW
3) 211 kW
4) 232 kW
Q9 regulates the temperature inside the refrigeration cabinet.\
hige & 3feR dUHH o FaHd Fxar g

1) Thermostat switch\ yARee fgg

2) Split phase motor\ e g AR

3) Relay\ Rat

4) Overload protector\ RIS Uledex

-\

Q 10) battery is mostly used in automobiles.\ 3 IJ-IIGII$Q'1 | H@Hd:

S mEmaeriy

1) Lead-acid\ Fﬁg-@g

2) Nickel-iron\ A d-3mRA

3) Alkaline\ &1

4) Nickel-cadmium\ fAed-bsfimy

Q 11) Discharged battery of an automobile gets chargedby foadt

erHaTsd B SRR St T AT 81 St g

1) dynamo\ SIOA!
2) other battery\ 3 Jcd
3) electrolyte\

4) field winding\ PIcs aTefaT

Q 12) In an automobile, there are diodes in an alternator.\ {3l 3ffcIHIaTEd
H ofccaexd SESdde 00

1) six\ &¥86
2) four\ dIR
3) two\ &I
4) one\ Udh

Q 13) Which of these is a NOT part of charging system in an automobile?\ 3_'{3[ I T
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STETANEIZd D1 ST YUITE! BT Tdh HIT ol 82

1) piston\ e

2) battery\afﬂ

3) alternator\ TR
4) dynamo\ ST

Q 14) Number of pump elements in a distributor pumpis .\ N IEQJ@QE? o] f[
UY Tl b1 G GEik

1)1

2)2

3)3
4) 4

Q 15)% coil is fitted in HVAC system.\ TIaId& Rieeq H Plsd Al
gl 3|

1) Both heating and cooling\ BITcT Ud W aHl
2) Only heating\ é”é‘l
3) Only cooling\ HId HICHT

4) Condensation\ i

Q 16) Which of the following is an example of external combustion engine? Fada
DI T Uh dTel S8 SoI BT 3801 82

1) Steam engine\dT® Soi
2) Gas turbine\ T g

3) Rocket\RIdhe
4) Jet engine\@l_cr ENEGH

Q 17) Which of these is not a part of internal combustion engine? \ _E'Flﬁ J oAl
3R &g 39 BT YR Tel 82

1) Armature\3{THER

2) Connecting rod \ BRI RIS
3) Crank shaft \ S YT

4) Combustion chamber\ G671 P&

Q 18) By which unit, power of the engine can be expressed ? \ P $Obl':‘: FRESEE
ek 1 ot T o ebell 82

1) Horsepower\3{ sy=fad
2) Kilowatt\fdatare
3) Both horsepower and kilowatts\3{ y=Ifaa 3R fparare Al

4) None of these\ZTH U P15 T8l

Q19) is used to maintain the constant output voltage value of the alternator.\
C N
JTdTdh & 3HT3TYC dlecs M Bl 9d 3@ & e &1 TRANT fadT STTdT g
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1) Voltage regulator\?:né\_r[ faf e
2) Current regulator\YxT [CIGRIEED

3) Wattmeter\@IcHICY

4) Energy meter\ 3ol HIeX

Q 20) Which component is used to connect or disconnect the drive from compressor to

the air conditioning system? \ TOR e 1T o T SIS B! HUIR F dHdc I
fSTpae B P T B T Ued o1 UaIT fhar Sirar 82

1) Magnetic clutch\ﬂ@ﬁ’q CNE)
2) Blower\sdI3R

3) Receiver\RATAY

4) Compressor\ﬂ"cﬁw

Q 21) Which DC motor is commonly used in automobile? \STCTH[dTg ] H IHId: B

It SR Aex 1 AT fobar Sirar 82

1) DC Series Motor\S 1 FIRIST Hiex
2) DC Shunt motor\& 1T ¥ HIex
3) DC Compound Motor\8 il HUSS HIex

4) None of these\STH I IS Tl

Q 22) Under which rule do hydraulic brakes work? \ Sd-a1ferd 9 fohd faH & sidvia
B I 57

1) Pascal s law\UlRch I o o
2) Faraday s law\TRTS & o
3) Lenz s Law\aiol o fH
4) Ohm s law\37T&T & 09

Q 23) What is the full form of ABS in the braking system? \ ST JUITGH H TSITH BT

quf &0 &1 8T 87

1) Anti-lock braking system\@-?ﬂ? sfd e

2) Anti-locking braking system\w-ﬁm sfhT Req
3) Anti locker Braker System\w TP SHx Red

4) Anti Theft Brake System\QT:pf YU b ey

Q 24) Which of these components transfer power from engine to input transmission shaft?

\ S8 Y DI 1 U¢H o I Xad DI IYC SIITHRA M deh RIFIART Bl 82

1) Torque converter\e 1 HATER
2) Power converter\Uldx HAdeR
3) Voltage converter\@lecs H-deT
4) Current converter\®c HAde

Q 25) What cannot be in a simple planetary gear set?\Ud> HIURU] el R e d
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T8 81 TehdT 82

1) Planet career\@e HRIR
2) Ring gear\RAT IR
3) Sun gear\q

4) None of these\STH | ®Ig gl

Q 26) Which motor is used to open and close the valve in Linear electronic EGR? &

Wﬁwﬁwﬁ@ﬁawmﬁ%ﬁﬁq@ﬁawwﬂm
o[dl 8?2

1) Stepper motor\WCUR HIeX
2) Shaded pole motor'S S TieT HIex

3) DC shunt motor\& T ] Hiex
4) Induction motor\BRUT HIex

Q 27) Which of the following statement is true for air conditioning?\ﬁ'ﬁ A HHEA
HYU TR B AT & o T 82

1) The air temperature entering the vehicle decreases by air conditioning.\dTg- & R
TR B dTell g1 b1 ATYHI TWR S I+ H & H B SAlell &
2) During air conditioning, there is action of evaporation, condensation, compression and

%Xpansion.\ TR HSIT P SR ITHBRUL, YU, JUST a1 IR &1 fhamd giat

3) In the evaporation process, the heat is taken away from the obj ect\ATIHRUT Ufeha ﬁ,
C

ST %] ¥ S8R & 1T ST § §

4) All of these \ I T

Q 28) Which of the following is not a component of an air conditioning system?\g:lﬁ |
B I TR ST ReH 1 9 el 82

1) Water Purifier\STdl RN1¢dh
2) Evaporator Coil\QdTUIRCR hIgdd

3) Condenser Coil\HS TR HIad
4) Compressor\HCﬂW

Q 29) What purpose can be se\rved by dual filament bulb used in vehicles?\ al fhame
o Sed BT YN AT+l # B ¥ 3520 &1 gfd & fore fomar o wavar g2

1) It can be used as a stop light.\sﬁ w1y NIE & =7 ﬁmmmwg |

2) It can be used as a tail light \§q <& <1Se & =0 § YN {1 ST ThaT @ |

3) It can be used as both stop and tail light.\sﬁ WY qYUT ¢ A1 Gl o =g H JaRT
T &1 Fehell 3|

4) None of these\?ﬂﬁ q aﬁé :|_6Q[

Q 30) are located on the dashboard of the vehicle.\ , dlgd P SIS W)

fRaga gl
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1) Gauges\ﬁ\_rf

2) Magnetic clutch\ﬂaﬁq dcld

3) Flywhee NGRS G 1l

4) Battery\
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L 2 Answer key
Question No. | Option
1 1
2 1
3 1
4 1
5 1
6 1
7 1
8 1
9 1
10 1
11 1
12 1
13 1
14 1
15 1
16 1
17 1
18 3
19 1
20 1
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21 1
22 1
23 1
24 1
25 4
26 1
27 4
28 1
29 3
30 1
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